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QUESTION 1

Which command will display a local computer\\'s hostname?
A. ipconfig, nbtstat, hostname

B. ipconfig, nslookup, hostname

C. ipconfig, nslookup, nbtstat

D. nbtstat, nslookup, hostname

Correct Answer: B

QUESTION 2

Which type of file locking allows NFS clients to read or write to a file locked by an NFS client?
A. All Lock options

B. No Locking option

C. Read/Write Lock option

D. Write Lock option

Correct Answer: A

QUESTION 3

What is the tool used to determine the security event types that are logged in a Data Mover\\'s CIFS security log?
A. audit policy snap-in

B. nas_logviewer

C. server_log

D. User Rights Assignment snap-in

Correct Answer: A

QUESTION 4
A storage administrator is considering implementing an iSCSI solution. What is one reason to justify the decision?
A. A native iSCSI solution will use existing SAN Fibre Channel switches

B. An iSCSI solution will provide higher performance compared to a regular SAN solution
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C. iSCSl is more secure than a SAN solution
D. iSCSI offers a solution for consolidating servers using the existing network infrastructure

Correct Answer: A

QUESTION 5

Which improvement is made when converting an NS gateway system direct-connect to a fabric- connect?
A. BE port utilization

B. BE redundancy

C. FE port utilization

D. FE redundancy

Correct Answer: C
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